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 Prefeitura de Palma Sola 

Estado de Santa Catarina 

Edital de Processo Seletivo nº 006/2018 

 

 

 

TIPO DE PROVA: 04  

CADERNO DE PROVA 

CARGO: Professor com Licenciatura Plena em Inglês (Anos Iniciais do 

Ensino Fundamental) 

________________________________________________________________________________________________________________________________

INSTRUÇÕES: 

 

 Deixe sobre a carteira apenas o documento de 

identificação e a caneta esferográfica de tinta preta 

ou azul, feita de material transparente. 

 Preencha o Cartão Resposta, com as informações 

solicitadas. 

 Confira se sua prova é para o cargo ao qual se 

inscreveu e se a mesma contém 20 questões, 

numeradas de 1 a 20. Caso contrário, informe 

imediatamente ao fiscal de sala. 

 Não serão aceitas reclamações posteriores por 

falha de impressão e/ou total de questões. 

 Para cada questão existe apenas uma resposta 

certa. 

 A resposta certa deve ser marcada no Cartão 

Resposta. 

 

VOCÊ DEVE: 

 

 Conferir no seu cartão resposta se o tipo de prova 

destacado, correspondente ao mesmo tipo de prova 

constante no caderno de prova que lhe foi entregue.  

 As provas de cada cargo serão identificadas pelos 

números 1, 2, 3 e 4 e é de responsabilidade do 

candidato a conferencia do tipo de prova constante 

no cartão resposta e no caderno de prova.  

 Segue demonstrado a forma correta de preencher o 

Cartão de Resposta: 

ATENÇÃO: 

 

 As marcações duplas, rasuradas ou marcadas 

diferente do modelo acima, ocasionará a anulação 

da questão.  

 É de responsabilidade do candidato o 

preenchimento dos dados do Cartão Resposta. 

 A prova terá duração de 02h30min, incluído neste 

horário, o tempo para o preenchimento do Cartão 

Resposta. 

 A saída da sala só poderá ocorrer após decorridos 

30 (trinta) minutos do início das provas.  

 Ao sair da sala, entregue o Cartão Resposta ao 

fiscal da sala e retire-se imediatamente do local de 

aplicação das provas.

________________________________________________________________________________________________________________________________ 

Anote aqui suas respostas para posterior conferência: 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 
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Questões de Conhecimento Específico 
 

01. Read the fragment from PCNs below. 

[...] the importance of understanding the teaching of a foreign language as being ultimately aimed 

at providing for real communication, as, in so doing, the different elements that make up communication 

will indeed prove effective, thus expanding and attaching meaning to the learning process, while doing 

away with stereotypes and prejudices that will therefore no longer have a place in the classrooms. 

By the context, we can understand that: 

A) The world perception of each speaker keeps the correct communication due to severe factors 

and, thus, the language also experiences norms to express new ways of looking at reality. 

B) The world perception of each speaker varies due to several factors and, thus, the language also 

experiences grammar rules to express unchangeable ways of looking at reality. 

C) The world perception of each speaker varies due to different academic purposes and, thus, the 

language also experiences diversities to express itself correctly. 

D) The world perception of each speaker varies due to several factors and, thus, the language also 

experiences diversities to express new ways of looking at reality. 

 

02. Analyze the context: 

The more students read, the better their vocabulary becomes.  And the more vocabulary they know, 

the better they can read. […] Teachers can do a lot to enhance vocabulary building.  They can teach 

students how to:  

I - Study and learn words effectively, choose new words they want to learn, and use a dictionary; 

II - Keep a vocabulary notebook—with sentences, syllable break-downs, and definitions; 

III - Make and use word study cards; 

IV - Review their word study cards—alone, without a partner, and always at class. (By Beatrice S. 

Mikulecky) 

Observing the topics above, it is correct the option: 

A) The items I, II, and III, only. 

B) The items II, III, and IV, only. 

C) The items III and IV, only. 

D) The items I, II, III, and IV. 

 

03. Read the sentence below. 

[…] somebody will give you a call about this. 

As the underlined item should be rewritten in a passive voice form, the correct option is: 

A) […] be given. 
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B) […] is given. 

C) […] will be given. 

D) […] will be give. 

 

04. Observe the paragraph below. 

That is why President Donald Trumps threats to withdraw have led to concern about a collapse of 

the INF would have meant placing new missiles in the Continent. 

(https://www.bbc.com/news/world-europe-45964776) 

The context above should be corrected as: 

A) That is why President Donald Trump is threating to withdraw has led to concern that a collapse 

of the INF would mean placing new missiles on the Continent. 

B) That are why President Donald Trump's threat to withdraw have led to concerns that a collapse 

of the INF has meant placing new missiles on the Continent. 

C) That is why President Donald Trump's threats to withdrawing have led to concerns that a 

collapse of the INF would had meant placing new missiles in the Continent. 

D) That is why President Donald Trump's threat to withdraw has led to concerns that a collapse of 

the INF would mean placing new missiles on the Continent. 

 

05. Read the sentence below. 

We are installing our largest reactor to date. 

As the underlined item should be rewritten in a passive voice form, choose the correct option. 

A) […] is been installed. 

B) […] is being installed. 

C) […] are installed. 

D) […] are being installed. 

 

06. Read the context below. 

Why people in Pennsylvania don’t have health insurance? 

As the context want to express numbers and quantity, choose the best option that corrects the 

underlined item. 

A) How come. 

B) As many. 

C) How much. 

D) How many. 

 

07. Analyze the sentence below. 
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You can do it however you have to, just do it. 

The conjunction “however” can be understood as: 

A) By whatever means. 

B) Despite that. 

C) In this way. 

D) In this manner. 

 

08. Read the sentence below. 

Women are therefore paid 26% less of average than men. 

The conjunction “therefore” can be replaced by: 

A) Women are, however, paid 26% less of average than men. 

B) Women are always paid 26% less of average than men. 

C) Thus, women are paid 26% less of average than men. 

D) Women are otherwise paid 26% less of average than men. 

 

09. Observe the context below. 

This will assuredly be the standings once the regular season is said and done. 

The sentence below can be rewritten, without losing meaning, as: 

A) Once the current season is said and done, this will questionably be the standings. 

B) Once the unusual season is said and done, this will certainly be the standings. 

C) Once the habitual season is said and done, this will questionably be the standings. 

D) Once the habitual season is said and done, this will certainly be the standings. 

 

10. Analyze the sentence below. 

I want to play a many possible, have the best stats and make a real difference here for Bordeaux. 

The underlined item should be correct as: 

A) […] as much as. 

B) […] as many as. 

C) […] as much. 

D) […] as many. 

 

11. Read the paragraph below. 

Haufiku says management and staff could not agreed by the increase as Unam management 

offering nothing, while the workers was adamant on the 6% raise. 

(https://www.namibian.com.na/72510/read/Unam-union--to-agree-on--strike-rules) 

The context above should be corrected as: 
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A) Haufiku says management and staff could not agree of the increase as Unam management 

offered nothing, while the workers were adamant on the 6% raise. 

B) Haufiku said management and staff cannot agree after the increase as Unam management 

offered nothing, while the workers was adamant on the 6% raise. 

C) Haufiku said management and staff could not agree on the increase as Unam management 

offered nothing, while the workers were adamant on the 6% raise. 

D) Haufiku said management and staff could not agree for the increase of an Unam management 

offering nothing, while the workers are adamant on the 6% raise. 

 

12. Read the sentence below. 

A fondness of reviving old brands is happening with tech as well. 

The underlined item should be corrected as: 

A) […] fondness in. 

B) […] fondness for. 

C) […] fondness by. 

D) […] fondness with. 

 

 

Questões de Língua Portuguesa 
 

INSTRUÇÃO: As questões de nº 13 a n° 18 dizem respeito ao TEXTO. Leia-o atentamente antes de 

respondê-las. 
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(TEXTO) 

 

 

13. De acordo com o Texto e seu contexto, assinale a alternativa incorreta: 

A) As pessoas altas têm um risco maior de desenvolver câncer, uma vez que possuem mais células 

para que a doença se espalhe. 

B) As pessoas acima de 1,60 metros de altura possuem maior risco de desenvolver câncer. 

C) As pessoas mais baixas são as menos propensas a adquirir câncer, pois possuem uma maior 

quantidade de células pelo corpo. 

D) O risco de câncer em homens com mais de 1,60 metros de altura é maior do que em mulher com 

a mesma estatura.  

 

14. Se o verbo “sugere” (linha 13) fosse conjugado na primeira pessoa do plural do pretérito mais-que-

perfeito do indicativo, a alternativa correta seria: 

A) Sugeríamos. 

B) Sugeriríamos. 

C) Sugerimos. 

D) Sugeríramos. 

 

15. Assinale a alternativa em que a palavra retirada do Texto é acentuada pela seguinte razão: 

Assinalam-se com acento todas as palavras proparoxítonas, seguidas, ou não, de “s”. 

A) “têm” (linha 1) 
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B) “células” (linha 2) 

C)  “câncer” (linha 2) 

D)  “provável” (linha 14) 

 

16. “Pesquisadores [...] descobriram que o risco de câncer em homens e mulheres é 10% maior para 

cada 10 cm de altura.” (linhas 4 a 7). A partícula “que” (linha 6), no contexto em que está inserida, exerce 

função sintática de: 

A) Objeto direto. 

B) Sujeito. 

C) Objeto indireto. 

D) Não possui função sintática. 

 

17. As duas vírgulas que isolam o trecho “[...], publicado na revista ‘Proceedings of Royal Society B’, [...]” 

(linhas 12 e 13) são utilizadas pelo autor com o objetivo de: 

A) Indicar a continuidade de uma ação ou fato. 

B) Isolar elementos de valor meramente explicativo. 

C) Representar na escrita hesitações comuns da língua falada. 

D) Explicitar termo posteriormente utilizado. 

 

18. “[...] desenvolvimento de células cancerígenas que se manifestam como tumores.” (linhas 10 e 11). 

Analisando-se a partícula “que” destacada no trecho acima, assinale a alternativa que preenche 

corretamente a lacuna da afirmação abaixo: 

A partícula “que” em destaque introduz uma oração subordinada _________. 

A) Substantiva completiva nominal. 

B) Adjetiva restritiva. 

C) Substantiva predicativa. 

D) Adjetiva explicativa. 

 

Questões de Conhecimentos Gerais 
 

19. De acordo com a Lei Orgânica do Município de Palma Sola - SC, ao Município compete 

privativamente, exceto: 

A) Promover o adequado uso do solo urbano. 

B) Utilizar tributo com efeito de confisco. 
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C) Organizar e prestar, prioritariamente por administração direta ou sob regime de concessão ou 

permissão, os serviços públicos de interesse local, inclusive o transporte coletivo que tem 

caráter essencial. 

D) Adquirir bens, inclusive mediante desapropriação por utilidade pública ou por interesse social. 

 

20. Com base na notícia abaixo e utilizando seus conhecimentos sobre o assunto, analise o trecho e 

assinale a alternativa que completa corretamente a lacuna: 

 “O Juiz Federal __________________ aceitou na quinta-feira (01/10/2019) o convite do presidente eleito Jair 

Bolsonaro para chefiar o Ministério da Justiça e Segurança Pública.” 

(Fonte adaptada: g1.com>acesso 01 de outubro de 2018)  

A) Sérgio Moro.  

B) Dias Toffoli.  

C) Gilmar Mendes.  

D) Rodrigo Maia.  

 

 

 


